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20198 & =& 2 3 LB, JIEHEESH S0
2N RS0
i sds M, RS - 09HE 23
Sl AsIHANTE (B9 ®R)
SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" Hl D2
== 20t 57,437,139 51,193,896 6,243,243
= 6,778,227 5,442,791 1,335,436
J| 7,561,185 7,517,446 43,739
< 43,007,727 38,233,659 4,864,068
SHE Mo, 25 - 0HAE 2et 57,084,933 51,152,328 5,932,605
= 6,778,227 5,442,791 1,335,436
J| 7,561,185 7,517,446 43,739
< 42,745,521 38,192,091 4,553,430
AsEMARIS 1,547,000 1,155,000 392,000
SttE ot d 2 SHUS 150,000 105,000 45,000
403 XIS E X201 & 120,000 75,000 45,000
01 X SHHAN2E = 120,000 75,000 45,000
OZZ=YHM XA 120,000 75,000 45,000
ZEAL SEEHE & 2EAUE HE E=8E2 100,000 0 100,000
307 21201 A 100,000 0 100,000
02 It M AIHE L 100,000 0 100,000
OTSZAAL SEESHE HESt 100,000 0 100,000
DEE s MAAlg K& 247,000 0 247,000
403 Ut SHHSA=0l& 247,000 0 247,000
01 HXSHMA2EE 247,000 0 247,000
ONSTZEQA MAALE XH 247,000 0 247,000
Ao AS DIt RS 15,123,214 12,323,346 2,799,868
= 4,452,227 3,774,791 677,436
J| 3,381,185 3,337,446 43,739
= 7,289,802 5,211,109 2,078,693
ANEAHBIEAMD 667,400 593,000 74,400
403 MtXISHH S0l & 664,400 590,000 74,400
01 X SHH A2 664,400 590,000 74,400
Os¢tE s AXI| X& 60,000 0 60,000
OHldoteA H&ZDE 14,400 0 14,400
HAF =g HE A 3,288,000 1,472,000 1,816,000
307 120l & 2,616,000 800,000 1,816,000
02 IZHE M AHE L 2,616,000 800,000 1,816,000
O A It E T 1,816,000 0 1,816,000
=M RS 1,581,750 1,431,750 150,000
403 MtXISHH S0l & 1,578,750 1,428,750 150,000
01 AXISHHA=2E = 1,578,750 1,428,750 150,000
ONEZE Usdgsd XN 150,000 0 150,000
SAEO0F HUXOIEEE (MTHMALXIAIE)(=2) 3,638,398 3,110,962 527,436
= 3,295,716 2,768,280 527,436
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SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
=) 342,682 342,682 0
403 MtXISHHSA=0l& 3,638,398 3,110,962 527,436
= 3,295,716 2,768,280 527,436
& 342,682 342,682 0
01 XM A=2E X 3,638,398 3,110,962 527,436
OAITH A0l 4 KT Al & X & 3,638,398 3,110,962 527,436
= 3,295,716 2,768,280 527,436
< 342,682 342,682 0
FTALISHE M 2 X (2 12) 645 0 645
308 XXIELHSOIA 645 0 645
01 AXHHBYEES 645 0 645
OFTALIHEH X 23 645 0 645
N2RedA2s(Ie+s1E)(=22) 39,600 19,800 19,800
J| 33,000 16,500 16,500
< 6,600 3,300 3,300
403 A X EHS =0l A 39,600 19,800 19,800
J| 33,000 16,500 16,500
< 6,600 3,300 3,300
01 X EHHMA=ZLE L 39,600 19,800 19,800
OM2+=&XE X 39,600 19,800 19,800
J| 33,000 16,500 16,500
) 6,600 3,300 3,300
D20 ADER” EAAI (= 1) 5,200 0 5,200
J| 4,000 0 4,000
=) 1,200 0 1,200
403 MtXISHH S =0l & 5,200 0 5,200
Il 4,000 0 4,000
=) 1,200 0 1,200
01 AXISHHA=2E = 5,200 0 5,200
OY==Z0F AQEE E4HALY 5,200 0 5,200
J| 4,000 0 4,000
< 1,200 0 1,200
2as 2s2GM |4 N (21) 580,000 406,000 174,000
= 500,000 350,000 150,000
= 80,000 56,000 24,000
403 A X EHS K= 0l A 580,000 406,000 174,000
= 500,000 350,000 150,000
= 80,000 56,000 24,000
01 X SHHAN2E= 580,000 406,000 174,000
ogXN=E EsZEAM 54 N& 580,000 406,000 174,000
= 500,000 350,000 150,000
=) 80,000 56,000 24,000
3 Mg sd 422 29 4,500 0 4,500
201 Zer24l 4,500 0 4,500
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
01 AFR2t2ltl 4,500 0 4,500
OFH JHag=sd UH2Y 24 4,500 0 4,500
ObZLIot W& FHIXJ A (=1) 27,887 0 27,887
2l 23,239 0 23,239
< 4,648 0 4,648
308 AHXIEHHM SO0l ™ 27,887 0 27,887
Il 23,239 0 23,239
& 4,648 0 4,648
01 HXHHBAEES 27,887 0 27,887
OO0tz LI0F & JHIXE At 27,887 0 27,887
Il 23,239 0 23,239
S 4,648 0 4,648
SHERSEHS ¥ sttE RSFAIMA 9,663,257 7,290,520 2,372,737
= 1,460,000 822,000 638,000
Jl 3,606,000 3,606,000 0
< 4,597,257 2,862,520 1,734,737
sS4 = 1,326,250 651,250 675,000
308 XXM S0l ™ 973,250 298,250 675,000
01 HXHHBAEES 843,250 168,250 675,000
OZUW =42 EHoieH &bl XI& 420,000 96,000 324,000
OMAS HANS 2ZEE X 351,000 0 351,000
MRARSIBES 537,550 500,500 37,050
403 A X EHS K= 0l A 534,550 497,500 37,050
01 HXSHH =L E 534,550 497,500 37,050
OUXNI=E MEAE 359,500 337,500 22,000
Osdts dEANE X 15,050 0 15,050
=S8 (=2) 1,104,057 1,083,170 50,887
= 860,000 822,000 38,000
S 244,057 231,170 12,887
308 AHXIEHHMSO0IE 1,104,057 1,083,170 50,887
= 860,000 822,000 38,000
S 244,057 231,170 12,887
01 AXHHBAEES 1,104,057 1,083,170 50,887
O3S HEH| 1,104,057 1,063,170 50,887
= 860,000 822,000 38,000
< 244,057 231,170 12,887
sS&=E 2d 243 133,500 39,000 94,500
308 MtXIEHMSOIH 33,750 22,500 11,250
01 HXHHBAEES 33,750 22,500 11,250
ozdg Z&EM X& 33,750 22,500 11,250
403 AXIHHSXH=0lA 96,750 13,500 83,250
01 AR SHHA =22 = 96,750 13,500 83,250
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
Oo=d A&&EH X 96,750 13,500 83,250
MRS HES 780,000 300,000 480,000
308 NHXIEHMSO0IE 300,000 0 300,000
01 AXHHBLEES 300,000 0 300,000
OosgEdE T X 300,000 0 300,000
403 TtXI S SA=01A 180,000 0 180,000
01 HXSHHGEEE 180,000 0 180,000
OAPC AMlEE R 180,000 0 180,000
AoesatE 24 & 70,000 0 70,000
307 21201 & 20,000 0 20,000
02 HAHFHYANEEX 20,000 0 20,000
O=d=sIt &G 20,000 0 20,000
308 NHXIEHMSO0I™ 50,000 0 50,000
01 HXHHBAEES 50,000 0 50,000
OozZgxg 248 XA 50,000 0 50,000
TESME HEY FA XE 156,300 0 156,300
308 XXM S0l ™ 15,300 0 15,300
01 HXHHZBAEES 15,300 0 15,300
ozY set= atdd A X 15,300 0 15,300
2ZEC AN £X(22) 900,000 0 900,000
= 600,000 0 600,000
S 300,000 0 300,000
403 AXHHSXH=0lA 900,000 0 900,000
= 600,000 0 600,000
< 300,000 0 300,000
01 AXISHHA =22 = 900,000 0 900,000
OZZFELE XY &X 900,000 0 900,000
= 600,000 0 600,000
S 300,000 0 300,000
SEAMES HIHE ANEMHL 50,000 0 50,000
403 A X EHS K= 0l A 50,000 0 50,000
01 XM= xE 50,000 50,000
O=S4= HHE A& 50,000 0 50,000
SASMYFH 1,794,700 1,616,700 178,000
= 355,000 355,000 0
2l 574,000 574,000 0
£ 865,700 687,700 178,000
sSMHEEEFY 70,000 40,000 30,000
307 glztol & 70,000 40,000 30,000
04 QIZHEHALALE B = 70,000 40,000 30,000
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SYl SABNESY CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
oA Zees &I X 70,000 40,000 30,000
SASMY 2435 N 313,000 165,000 148,000
308 XXM SOl A 48,000 0 48,000
01 AXHHBLEES 48,000 0 48,000
OZXetY 43t XA 48,000 0 48,000
403 A X EH S 20l A 265,000 165,000 100,000
01 HXSHHGEEE 265,000 165,000 100,000
OsAlseY 243 XA 225,000 165,000 60,000
O=x=Z HZ=AE XA 40,000 0 40,000
AME YR 330,000 290,000 40,000
= 165,000 145,000 20,000
= 165,000 145,000 20,000
NIM Aldgns(=21) 300,000 260,000 40,000
= 150,000 130,000 20,000
= 150,000 130,000 20,000
307 21201 A 300,000 260,000 40,000
= 150,000 130,000 20,000
= 150,000 130,000 20,000
02 It HAMAEE 300,000 260,000 40,000
OXTHAH MU I A 300,000 260,000 40,000
= 150,000 130,000 20,000
< 160,000 130,000 20,000
Stga ResdE 32 27,921,762 27,861,762 60,000
= 346,000 346,000 0
< 27,575,762 27,515,762 60,000
S4E sugs 823l 32 27,471,962 27,411,962 60,000
403 TtXI M S A =01 A 60,000 0 60,000
01 X SHH A =22 & 60,000 0 60,000
OSWgAXNAEH 2 45t 60,000 0 60,000
st =FD|E &= 705,000 615,000 90,000
=EME 3 ICT 44X sS4 180,000 90,000 90,000
403 TtXI S S A =01A 180,000 90,000 90,000
01 AXISHHA =22 = 180,000 90,000 90,000
O+=dE G ICTHAMHX 4 180,000 90,000 90,000
Heegs(ss30t) 310,638 0 310,638
RSN 310,638 0 310,638
SHE RSEE ANZRES Ue= ¢ 310,638 0 310,638
802 gHEt= DI EF 310,638 0 310,638
0B Ad=s 310,638 0 310,638
©'18F TMAIJLZ oA 310,638 0 310,638




